M At

HE: RHONALSPEN (LSBT HT/ABH )
ol 202N S DS L FALYS (el &2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 il b o HRE2
QITH & ot 9,140,624 9,242,790 A 102,166
Il 134,037
= 24,000
& 571,122
Al 8,411,465
SRYHUMLLHSER TR (LIS /At ) 4,606,624 4,539,802 66,822
= 237,394
A 4,369,230
=ZH=HE WS 3A 2,091,710 2,196,303 A 104,593
= 91,604
Al 2,000, 106
FHYUZA SHEY HiX 577,296 723,034 A 145,738
308 AtXIHMSO0I & 577,296 723,034 N 145,738
06 I 20HetELS 577,296 723,034 N 145,738
OZZNSsD A2 LA BH3
49,696,000& » 11 546,656
OROBILAHE U B2BZ 212AY|
30,640,008 * 1% 30,640
=H3t ws2a ALY 561,640 552,800 8,840
201 Et2Ad| 17,380 15,800 1,580
01 AtR2tel 8,480 10,000 21,520
OUR0NE S7 2B 222 HE
1,000& = 88 = 1,000% 8,000
OURNEIotRA UK L Y20} 4L 2
= 20,000& * 28 = 123 480
02 222l 8,900 5,800 3,100
CEEVEELEPE-E--F
450,000& * 12& 5,400
O2=0EIE A A2 RN L]
2,000,000& = 1JH= 2,000
OINCEMRSEA &8 23 (H3lHl)
1,500,000& * 13 1,500
307 21zZtol 527,560 518,800 8,760
02 g2t atex 47,560 38,800 8,760
ORI ETsA 2 34,560
— 210121 (0ISHIOIM) +&
20,000 * 24A12t » 128 » 69 34,560
ONADENEEE HOHBUT 29
3,000,0002 * 15| 13,000
05 QI”tRE 3 480,000 480,000 0
OAPOIE SHEME 28]
480,000,0002 * 141 480,000
405 KtatE =S| 16,700 18,200 A 1,500
01 MY SZHSHI 12,200 18,200 6,000
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M At

HH: SRUOWSHSREZ(LUDTHE/LLHT)
@2 A=0=H s SAS (ctel &
_ _ SN E N
SH-EFHHA(FA) - NIRAE - BES Of &F 2K oﬁEiﬁ Hluns2
OA20 EQGIRA 2% MHFH L FI|F
ol 12,200
—ZEH(ZLIH Z8)(3d s&5E)
2,000,000& * 2CH 4,000
—LEES AEH(LS ZAE)
2,000,0002 * 1CH 2,000
—ZEH MM E5E)
400,000 * 24 800
—EAN % A HF(AR0 A 228)
800,000 * 54 4,000
—HIOIS(20H) & 2/ XH(8M)
1,000,0008 * 14l 1,000
—ABHAI(ETGISA HA8)
400,000 * 1CH 400
02 AT 4,500 0 4,500
Q20 SANPU(EISRAUL SHHIXIE)
20,0008 * 2002 4,000
OEDGRA HIEH (VD) R (2E ARz A
HIXI ) 25,0002 * 20% 500
HOMESSHLANIRY 861,170 828,865 32,305
308 XX SHHMSOIE 861,170 828,865 32,305
06 NI 2AUUHSEEZ 861,170 828,865 32,305
OBtst Bilingual 2Z 2
40,000,000 * 13 40,000
OHEE SJUAMENH 29 417,595
-GS NEMEH 29
417,595,000 * 14l 417,595
OdHIE JUAMENH 2 403,575
—ZYdANMEdH 24
142,879,000 * 14l 142,879
—ZJIG0MEHH 29
135,984,000 * 14l 135,984
—2AANMHE 2
124,712,00094 14l 124,712
FOHESS SYXAMNG(T) 91,604 91,604 0
(= 91,604
307 ©12t0| & 91,604 91,604 0
< 91,604
02 DI2tFAE X 91,604 91,604 0
O=SstIMESISAA
300,000 * 121 36,300
< 36,300
OMASENHIEHAMESSXE
446,0008 * 1249 55,304
< 55,304
WSEHINL ALY 2,514,914 2,343,499 171,415
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S QITHA Tt
M2 BRUOIWYHSDEN (LB BB /YHT)
o9l DRSNS (S92
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
< 145,790
Al 2,369, 124
TS E2 DR X4 1,417,260 1,322,260 95,000
201 YEr2gy| 1,260 1,260 0
01 AtR2t2It] 1,260 1,260 0
OnNgHANLBTIMAAS 4+
70,0002 * 6% + 32l 1,260
308 X+XIEHHISOI & 1,416,000 1,321,000 95,000
06 RS BHSS XS 1,416,000 1,321,000 95,000
OStDDSHAMS XA (MM 3%)
37,200,000,0009! * 3% 1,116,000
OZS8X NSNS YIS 30 294l X
2 250,000,0002! * 14 250,000
OZS S2Da 294l X
10,000,000 * 52 50,000
OITH 24 B S TH B & &) 500, 750 500, 750 0
201 YEr2gY| 750 750 0
02 B2l 750 750 0
OATSA Ze S SHOIX RX2 4|
5,000,0002! * 15/100 750
306 213 500,000 500,000 0
01 2013 500,000 500,000 0
OYFANAHS LTS LI 2 B
500,000,002 * 13| 500,000
S NZAX 110,937 94,026 16,911
201 Yer2gy| 1,470 1,470 0
01 AtR2t2IH] 1,470 1,470 0
OBt LS4 ABHINY HAARS 2
70,0002 * 7% + 32l 1,470
307 212H0| & 68,499 63,855 4,644
RIS 68,499 63,855 4,644
OESAA OIS SAE 2+4THE 7l X
2 1508 * 1802 * 2,537 68,499
308 X+XIEHHISOI & 40,968 28,701 12,267
06 RS BHSBES 40,968 28,701 12,267
ORXE OIS SAE 24AME 2 X
1508 * 1802 + 1,109 29,943
O ESD(PAE CNE L43) 2434
stmgalyl N
2,500%0 * 49% * 1802 * 50/100 11,025
SNZAE SEANMBINE(E) 485,967 426,463 59,504
= 145,790
Al 340, 177
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SH: QYA
HE: 22UWYHSPEE (LTI /A T)
Sl DS EAINM ALY (el & 2
_ _ MNuE o
SN FHH S (3H) - HREAY - BES 0ff &+ o4 0 At of HlmS2
308 X+XIE+HISOI & 485,967 426,463 59,504
= 145,790
Al 340, 177
06 REII 20 CHE 2 X2 485,967 426,463 59,504
OR+E542M2 S DZA
485,967,008 * 14 485,967
= 145,790
Al 340, 177
Mo Zel PE(2HYL2Y/HS) 3,464,700 3,664,199 ~199,499
| 134,037
= 302,428
Al 3,028,235
HSAL 25 209,810 690, 150 480,340
= 60,000
Al 149,810
SUHSAE 29 49,810 72,650 22,840
201 YBr2gy| 19,810 17,650 2,160
01 At 22|t 4,540 4,540 0
OXSESI=LZE(018) 4002 * 1,008 400
OFIIHHBRIT HH=4B (2SS B)
95,0002 * 12042 1,140
OXMSITet 2 M20HE 222 M
60,0002 * 58 * 108l 3,000
02 232l 15,270 13,110 2,160
OZJIMSsZ &Il ABR
800,002 * 12042 9,600
OEJIMSIZ BAMNL 223
70,0002 * 23| 140
OZIIHSIZ 44 AEE
30,0000 * 12942 360
OBJIHRET 51+ ANEBR
30,0002 * 12042 360
OBJIHSIZ RONHHIAAL B
80,0008 * 12742 2,160
O22F BANLRLD 50,0002 * 23l 100
OZ2F Fax +)I8 50,0002 * 1] 150
OZ2® MIINEE 200,008 * 12042 2,400
401 Al E 6L 20| 30,000 55,000 25,000
01 Al Hl 30,000 55,000 25,000
OSUHSAE 25177
2,000,0002 * 10CH 20,000
OSUHSAE 25717 24
200,0008 * 507K 2 10,000
YFOPASTES(E) 60,000 0 60,000
= 30,000
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HERCIDA Rel e T,

I:I}\_I X ZH C|—O|(:|j;”) }\.“bl}\l,o-l A2 AFOH I|_‘|LI;=|_|‘:_ HleDF
Al 30,000
401 A& HIZ 20HYI 60,000 0 60,000
& 30,000
Al 30,000
01 A& HI 59,400 0 59,400
OE=07HsE 24 59,400,000& * 14 59,400
& 29,700
Al 29,700
03 AI& 2 0HHI 600 0 600
Og=07dsd =4 204
60,000,000& = 1/100 600
& 300
Al 300
SFANFERFALEHEI(E) 100,000 0 100,000
= 30,000
Al 70,000
401 A& HIZ 20HYI 100,000 0 100,000
& 30,000
Al 70,000
01 A& HI 99,000 0 99,000
OGFANSEHATEAIZEHl 99,000,000& * 14 99,000
& 29,700
Al 69,300
03 AI& 2 0HHI 1,000 0 1,000
OZ=AZFERFALEHE 20
100,000,000€ = 1/100 1,000
= 300
Al 700
F3Zd =4 3,254,890 2,974,049 280,841
Il 134,037
& 242,428
Al 2,878,425
AYE |4 60,000 50,000 10,000
307 QI2tol ™ 60,000 50,000 10,000
02 g2t a8 x 60,000 50,000 10,000
OUYYPEHE AR R (24,24, FY)
50,000,000& = 14 50,000
OBtRu=AAW NS SAY|
10,000,000& * 14 10,000
M=gAL XI& 1,187,960 1,063,460 124,500
202 odl 3,360 3,360 0
01 2 A I 3,360 3,360 0
OMMEI eIE 70,0003 * 29 * 22 * 123] 3,360
301 et2 a3 5,600 5,600 0
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SH: QYA
ol JgDet PE(SHLAB/MS)
ool HSHY £4 (e
_ _ MNuE o
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
10 B AFAH B A S 5,600 5,600 0
OASTONURISHE EIIK OfH]
70,0008 * 80 5,600
307 212+0I & 1,179,000 1,054,500 124,500
04 BI2FHALR X 1,179,000 1,054,500 124,500
OAl WEZ H2i3l 3,000,0008 * 14! 3,000
OF NEY 4203 3,000,0002 * 14! 3,000
OF= NS HLHa 2,000,000 * 14 2,000
OAZIIED| 2BHE X2
3,000,002 * 8Z = 24,000
OFILLAMSUENNE S 952
50,000,0008 * 100 == 500,000
OMSSIIES ¢ AAES |4 80,000
S E+ 2,500,008 * 1052 25,000
—3Es 2,500,0002 * 1052 25,000
~SYUU A2 SASXE
30,000,0002 * 18l 30,000
OZ=8ASUSUS &1
1,000,0008 * 1052 10,000
OZ% 208 SHLYSX
10,000,0008 * 18l 10,000
OANSCHOARSHS BIH A2 =X
) 50,0008 * 80% 4,000
OX493 Z=ZSAIUS XL
3,000,0002 * 13] 3,000
ORI33E YFAIRIMSHS HA 310,000
LEELS 100,000,0002! * 13| 100,000
~SHE X2 10,000,0002 * 197 190,000
—ZDSsm NY 1,000,008 * 2001 20,000
ORI508 2= OIS &I
220,000,000% * 13| 220,000
ORI503l Z2COIASHE MHalAl &It
10,000,0008 * 18l 10,000
MBS 84 279,480 289,480 A10,000
301 YEHB A 39,480 39,480 0
10 S AFALHI 2 A 2 39,480 39,480 0
OMEBHSNER o4&}
70,0002 * 8% * 22 * 43| 4,480
OX2ME Y THHIRII(HNOEE S) 52
S ¥ 1,000,0008 * 1552 15,000
OSXAD| B2 MBHSHE B (S S)
,000,0008 * 20E= 20,000
307 21201 & 240,000 250,000 10,000
04 DIFHALR X 240,000 250,000 10,000
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SN
X XH .
S Tt

oLk

oI 2o ut
HEelZel R (222 /M)
HEetd &4

22
J2

=2

B
2

ONZ Y CHAMBURNS R (Z7S)
40,000,008 * 23] 80,000
ONHEANEE HHMSHSHE B
5,000,000 * 13l 5,000
OZ=0l2a MBUKHE &
5,000,000 * 13l 5,000
ONM223 A=E0 MBHSHS 25
55,000,000 * 13l 55,000
OAgI2i2t @ 52a2 2003
10,000,000 * 23] 20,000
OZ=21 =243 2,000
— X% o3l 10,000,000 * 13l 0,000
—SH8 B 1,000,008 * 28 2,000
OANRIMEH S T3 3,000,008 * 652 18,000
O2014 &2 H2EE 203
30,000,000 * 13l 30,000
020126 bl SZbH HOIES T3l
15,000,000 * 13l 15,000
NEE-EEEEEBEEEIETS 120,000 1,120,000 0
= 170,000
A 950,000
307 £1240| 120,000 1,120,000 0
= 170,000
A 950,000
02 QIAAMEE 120,000 1,120,000 0
ONYE(SH, 24, 2#)848 X
1,120,000,0008 * 14 120,000
= 170,000
A 950,000
NEENHERTENETED 44,160 41,856 2,304
] 22,080
A 22,080
307 ©1240| 44,160 41,856 2,304
] 22,080
A 22,080
02 UIAAADE 44,160 41,856 2,304
OAIZ 012 & MRS X & X bl X
22,080,000 * 2% 44,160
] 22,080
A 22,080
NEREYENESRIED 132,480 125,568 6.912
] 66,240
A 66,240
307 £12+0| 132,480 125,568 6.912
] 66,240
A 66,240
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A OH
33 M=
el M=

A} OH

20
B
2

O
>
M oY
0z
il
i

SN X
22,080,000& * 6

P
Al

132,480

132,480

66,240
66,240

125,568

=z H

27,000

5,000
22,000

19,000

8,000

307 212+01 o

= H

27,000

5,000
22,000

19,000

8,000

)
=32l g4l X& 27,000,000& * 14

= H

27,000
27,000

5,000
22,000

19,000

8,000

= M

38,500

11,550
26,950

36,120

2,380

307 212+01 A

= H

38,500

11,550
26,950

36,120

2,380

SN
OdstsNA(E+, HUA )22

38,500,000& = 14!

=

38,500

38,500

11,550
26,950

36,120

2,380

=z Y

65,310
45,717

5,878
13,715

48,565

16,745

307 212+01 A

= H X

65,310
45,717

5,878
13,715

48,565

16,745

02

e

ABABX

A HEHsE06 X2
65,310,000& = 14|

3
EN

Jnooxz

O
>

= HmnY

65,310

65,310
45,717

5,878
13,715

48,565

16,745

A= AWANIEUNSI XA (Z)

= H

210,000

30,000
180,000

180,000

30,000

307 212+01 ™

=z H

210,000

30,000
180,000

180,000

30,000

210,000

180,000

30,000
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SA: QITHES It
I HSoTe PE(2HUZ/HK)
ool MSsY x4 (erel: @2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES O AF K '@,‘;OH Hlw &2
OYFABADHENHS] HE X
210,000,008 * 14! 210,000
= 30,000
Al 180,000
2012202 AMSH KU XA (S) 90,000 0 90,000
= 20,000
Al 70,000
307 212+01 & 90,000 0 90,000
= 20,000
Al 70,000
04 BIZHEYALE X 90,000 0 90,000
O2012Z 20 S AMSHSHE X2
90,000,000 * 14! 90,000
= 20,000
Al 70,000
BAsE CAZSE(DS/BY - ZADS) 240,964 231,250 9,714
< 1,500
Al 239,464
s 79,886 85,422 15,536
NEEInES 60,000 60,000 0
307 2I2+0| & 60,000 60,000 0
04 BI2HS AL & 60,000 60,000 0
OYZFOIIIEI0l A 2% 5,000,008 * 123 60,000
LSS Az 19,886 25,422 15,536
201 Ypte | 19,886 25,422 15,536
01 At 22t 1,220 1,220 0
OFstE HA 200,008 * 23 400
Os%3 4 150,000 * 43 600
048I & 20,0008 * 114 = 13| 220
02 TS| 18,666 24,202 15,536
OAZRAYI 1,002 * 1,346.04m 1,347
OZZRS MaE 80,0002 * 128 960
OZZBR3 MJIE 700,0002! * 122 8,400
OBZR3 454E AFBE 150,008 * 128 1,800
OsBMLA=YS 160,000 * 23] 320
OJtA & MIIQHEAAN 42
40,0008 * 23| 80
OAZAIM QHMEZ 248 700,0002 * 13| 700
OAAH ARUSE 248 60,0002 * 13| 60
OJNAAD MARH 40,0008 * 13| 40
oRe A=t
1,0552 * 2AI2F * 104+ 120 2,532
OB KNI 74,3042 * 4.4 327
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S QITHeEA T
HE: PSS TAZS(DS/BY - ZYDS)
Sl BMSIS T (e @
5 o SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
307 212+0I & 20,000 30,000 10,000
02 Q1AM B E 20,000 30,000 ~10,000
OUNSEHEMSEE T278 2AX 2
10,000,0008 * 14! 10,000
OMASX NS SR T278 SHX 2
10,000,0008 * 14! 10,000
403 XX I S K2 0| & 10,000 5,000 5,000
02 IS0l CHEHCH B AL B 10,000 5,000 5,000
ONANSEMS SR T2 2HX 2
10,000,0008 * 14! 10,000
TS S E S TAY 84,450 57,400 27,050
201 Yut2 bl 5,350 2,350 3,000
01 ALR 2l 5,350 2,350 3,000
OBMSEI2 2N ALY 350
— AR RS 70,0008 * 5% * 13 350
OBMsEEN &0t ME WY
3,000,0008 * 13 3,000
OBMSISER &It TN 222 HE
2,000,0002 * 13] 2,000
207 1 PN L HI 30,000 0 30,000
01 g 30,000 0 30,000
OBMsts X ZeKa WY
30,000,008 * 18l 30,000
301 YuHB A3 2,100 1,050 1,050
10 S AFAIH| & AL 2,100 1,050 1,050
OBMSIEEN AU BIIK b S
70,0002 * 102 * 32 2,100
307 212+0I & 47,000 54,000 A7,000
EIEIE P 35,000 39,000 A4,000
OBMsEI208 22X Al 20,000
—94 Z278 XY 2,000,008 * 47H 8,000
—A%E T2y X
2,000,000 * 474 8,000
—sta=ol2l g 1,000,000 * 4944 4,000
ODI2S? X5 YssT2]Y 2%
5,000,0008 * 14! 15,000
04 DIZFHALR 12,000 15,000 A3,000
OWMstes ALY A 10,000,0002 * 14 10,000
ORNI3E ZASE BMSESRH &It
2,000,0008 * 13 2,000
MIRUCCHABMSISER AN (T) 3,000 870 2,130
= 1,500
Al 1,500
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S QITHA Tt
Hal: FUSNS(NEN/2S - HEL0L)
Sl BASHS ALY (e @
_ _ pSNE e
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K ‘Oﬁ,‘\jg‘; HwsZ
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